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GRAMMATICAL COLLOCATIONS - Complete the following collocations by adding the usual 

“partner” (preposition or adverb) and give the Italian translation of them: 
 

1. According ………………………. the EU, negotiations with ………………..…. least ten countries may well be concluded by 

the end of next year. 

According ……………………… = …………………………………………………………………………………………………………………………………………… 

……………… least = ………………………………………………………………………………………………………………………………………………………. 

 

 

2. The world's newest country, Kosovo, says its priority is to improve the rule of law ………… order ……………………. 

reduce corruption and build up the state. 

……………… order ………………… = ………………………………………………………………………………………………………………………………………. 

 

 

3. Share prices are suffering because ……………………………… the outlook for four forces that impel stockmarkets: 

economic growth, profits growth, interest rates and inflation. 

Because …………………………… = ……………………………………………………………………………………………………………………………………. 

 

4. On issues such …………………………….. health, energy and immigration, surely they can find a patch of common 

ground? 

Such …………………………… = ……………………………………………………………………………………………………………………………………. 

 

 

5. ………………………. response …………………………. the resolution, the Libyan government has said it is declaring a 

ceasefire and calling a halt to all military operations, …………………….. accordance …………………….. the resolution's 

dictates about the protection of civilians. 

……………………….. response …………………………… = …………………………………………………………………………………………………………. 

……………………… accordance …………………………… = …………………………………………………………………………………………………………. 

 

 

6. The Tunisian model is very similar ………………………….. its Egyptian counterpart. 

Similar …………………………… = ……………………………………………………………………………………………………………………………………. 

 

 

7. Any real appreciation would have a substantial direct impact on inflation due ……………………… the weight of 

Chinese goods in America's inflation indexes. 

Due …………………………… = ……………………………………………………………………………………………………………………………………. 

 

 

8. Green growth will depend ………………………… aware investors. 

Depend …………………………… = ……………………………………………………………………………………………………………………………………. 

 

 

9. The prime minister and the cabinet are appointed by the president and are responsible …………………… parliament. 

Responsible …………………………… = ………………………………………………………………………………………………………………………………. 

 

 

10. Rich countries are responsible …………………………….. two-thirds of the carbon put into the atmosphere since 1850. 

Responsible …………………………… = ………………………………………………………………………………………………………………………………. 

 

 

11. Health officials say he is among nearly 30% of Peruvian children in his age group who suffer ……………………………. 

chronic malnutrition. 

Suffer …………………………… = ……………………………………………………………………………………………………………………………………….. 

 

 

12. Reform should thus focus …………………………… rich-world financial centres …………………. well ……………………. 

Caribbean islands, and should distinguish between illegal activities (laundering and outright tax evasion) and legal 

ones (fancy accounting to avoid tax). 

Focus …………………………… = ……………………………………………………………………………………………………………………………………….. 

…………………………. well …………………………… = ………………………………………………………………………………………………………………… 


